]

WA A ax? 4 bx-+c = 0 0] o] 7P

a#0

‘ x2 ¢ A%7} 0 o] offolo}

-

ul

122 qg£0

5




2.

O|ZAPL A 2x% + 6x—a =0 9] T T

e
>

> He: -6

~&B

£
v
!
o
rd

=38 7171 2jo] ot
18+18—a =0

Soa= 36

2x% + 6x—36 =0, (2x+12)(x_3)20
2x+6)(x—3)=0
Lx=-6EE=x=3

fllo



3. X-5x-U=09F2FZ 2 2+3x+k=09 2L I, k 9

& Fatelet
> CF
> ® g -0

¥ -5x-14=0, (x-7)(x+2)=0,
x=TEex=-2942

x=T09 x24+3x+k=09 ZO|B249+21+k=0,
S k=-=-70




¥ -x-12=2x% - 4x-10
2 -3x+2=0
(x=2)(x-1)=0

x=2 B+ x=1




oA A 2x% +dax—3a—4 =00 T Fo] -1 4 o, 2 F L&
T8

3 11 7 5
o-> o-f @ @ ® 2
B ~

=12 Hga
2% (-1)2+4ax(-1)-3a-4=0

2-4a-3a-4=0,a=——

2x2—§x+§—4:0,7x2—4x—11:0
7 7

(Tx=11)(x+1)=0
11 o g

T




-1 ol

etk ol wl, a2 4 b2 o] 327

@ 25 @ 27 (@)29

B

FEN > +ax+1=0%2x>-3x+b =09 5%

7} o] x

(-1)2-a+1=0, a=2
2x(-1)24+3+b=0 b=-—
n a4 b2 =22+ (-5)2 =29

7} o|ZPHFA Al x = —1 S T elsHA

o
Rl



7. x7}-2,-1,0,1,24 o, A 252 —5x + 2 =0 9] 5f=2

® -2 @ -1 @0 @ 1 (@)2

B

2x2 —5x+2=0
(x-=2)(2x-1)=0
1
2

rr

x=2%

e x = 2

X =




QM ax-2y =27} A (a+1, a?) & AT A 3AERES At
e ), ¢ o] LS Fotolat.

» G

> g 1

ax—2y=-2°1 4 (a+1,4d*) = WY

ala+1)-2a>=-2

2+a-2a24+2=0,a2-a-2=0

(@=2)(a+1)=0

a_2_1_,_a——1

ax—2y = -2 7} A 3AFEHE AUA] FodH a < 0 o]BEE
a=-1




OJAPYA A 2x2 —ax+2=0, x> -3x+b =02 FF2 3|7t 2

_T%__
o, ab ©] = +5HH?

® -25 @ -10 @1 @10

® 25

~&B

Fo17l Ao x tiAl 2 & st
8—-2a+2=0, a=>5
4-6+b=0, b=2

coab =10




